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Directions (Questions no. 1 to 6) : Read
the following passage carefully and answer
the questions given below it.

There is absolutely no
complaining that over the years, there has

point in

been pressure for increased productivity and
higher earnings for workers in industry.
There are

employees’ earnings. Employee earnings can

several ways for increasing
be increased by raising the selling price of
the firm's products and services, reducing
profits or costs materials, or
augmenting labour productivity, However,

of raw

inereasing employee earnings by means
other than increased labour productivity
jeopardizes the firm's competitive strength
in the market. Higher prices usuaﬂ& hear-

fewer customers, reduced pruﬁt'mem:-ﬁeﬂﬁ;

capital investment, and low-cost matéﬂa];ﬁ
mean poor product guality. But, increasing
labour productivity by enhancing skills and
unlimited

motivation createz an almost

resourceé. The development of economic
resources, human as well as non-human, is
the produet of human effort, and the quality
of human effort in large part depends on

human motivation.

Enthusing employees with workaholic
spirit through traditional authority and
financial incentives has become increasingly
difficult as employees become economically
secure and their dependency on any one
particular organisation decreases, According
to expectancy theorists, the metivation to

SCS-2
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work increases when an employee feels his
performance is an instrument for obtaining
desired rewards. Nevertheless, in many
organisations today, employees are entitled
to organisational rewards just by being
employed. Unions, governmental
regulations, and the nature of the job itself
in some cases prevent management from
relating financial rewards to performance.
People may be attracted te join and remain
in organisations to receive organisational
rewards, but being motivated to join an
organisation is not the same as being
motivated to exert effort in'an erganisation.
The challenge to management is to find and
administer alternative forms of incentives
which will induce employees to improve
work performance. Such alternative forms of
'rd?hﬁﬁcmmnt require increased
Lﬁﬁ?ﬁﬂding of motivational theories and
programmes. .

will

1. Which of the following statements is
true in the context of the passage ?

(a) Development of gconomic
resources is primarily the product

of market conditions.
(b) Earnings can be increased by
lowering the selling price of
products.
(e} Employees can be best motivated
by providing financial incentives.

(d) None of these

2}
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2. Organisations can derive maximum

advantages by

{a) providing financial incentives to
employees regardless of
performance.

(b) enhancing labour productivity by
increasing skills and motivation.

(e) encouraging employees to expend

greater physical energy.
(d) inducing employees to improve
work performance and control
their demands.

3.  According to the passage, all of the
following contribute to an inerease in

employee earnings, except

increasing the selling price of the

(a)
company's products

(b) providing incentives and fringe
benefits to emplovees

(e) enhancing labour productivity

(d) increased gapital investment

4. Employees feai motivated to work
when they

(al experience good working

conditions in the organisation.
(b) decide to produce goods and
services as a result of team-work.

(e} think of performance as a tool for
obtaining rewards.
(d) relate rewards to material
prosperity.
SCs-2
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5. Choose the word which is most similar
in meaning as the word ‘induce’ as
used in the passage.

(a) Appreciate
(b) Stimulate
(). Exhibit
(d) Inflate

6. Which of the following statement(s)
is/are mot true in the context of the

passage 7

1. Human effort is the cause of the
development of economic
resources,

2. Management is free to relate
financial rewards to performance.

3. Employees can be easily

motivated with traditional
LE o authority today.
(a] Both1and2
(b) Only3
{c) Both1and3
(d) Both 2 and 3

Directions : Read the following passage
and answer the questions no. 7 to 12 given
below.

Today, the of
appealing to the eye as well as to the ear
has been fully recognized, and the lack of
suitable materials which has in the past
been a handicap to visual education is being
made good. The exhibition is one important
medium for visual education that has

educational walue

gained greatly in popularity in recent years.
3)
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Exhibitions may range in subject from the
purely practical — as those sponsored by
some authorities for health and handicraft
demonstrations — to collections of artistic
and historical interest like those circulated
by the Victoria and Albert Museum. A
natural focus for this particular form of
education through the eye is the local
museum. Museums and galleries are,
indeed, playing an increasingly important
part in the educational life of their localities;
and possibly their greatest contribution can
be made in the field of adult eduecation. If
they are valuable as a base for the display of
material supplied from outside zources, they
have a more important function in fostering
local distinetions and traditions of'all kinds.
This they can do by their muﬁm
collections, by special exhibitions shown on
their own premises, or by travelling
exhibitions circulated to other centres in the
locality — for example, to colleges of further
centres. An

outstanding value of the exhibition method

education or to community

is that it does not provide instruction only,
but by the display of works of craftsmanship
and art it gives a training in appreciation, a
sense of quality and individual character.

Another most important medium for
visual education is the cine-film, and at the
supply
produced educational films is being rapidly
increased. The film, like the exhibition, is
well adapted for demonstration of practical

present time the of specially

SCS-2
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activities and skills of all kinds, and to the
communication of cultural ideas and values.
But it has a further distinctive contribution
of particular importance in education.
Owing to the exceptionally strong emotional
impact of the cinema, films dealing with
controversial topics — as, for example, the
whole range of modern social questions —
can be relied upon to provoke discussion and
arouse interest in current problems. There
are a number of sources for educational
films. In addition to the well-known
Commercial Film Libraries, there is the
Central Film Library, where
sponsored films are available; and the
National Film Library run up by the British
Film Institute, with its large historical
collectigng of films of all kinds and all
periods,

X BN

ﬂl‘tﬂﬁﬁon should also be made of the
humbler filmstrip, which consists of a series

officially

of pictures printed on lengths of cine-film
and projected like miniature lantern slides.
Being cheap and easily ha.nd]gi they are an
ideal means for illustrating informal
demonstrations and lectures. These are
already obtainable for a wide range of
subjects from several commercial producers,
and are likely to be supplied in increasing
number from public sources. For those who
still prefer the ordinary lantern slide, the
largest and most accessible public collection
is that of the Victoria and Albert Museum.

(A -4)
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Why is the adjective ‘humble’ applied
to the filmstrip 7

(a) Because it is gbtainable for a

wide range of subjects.

(b) Because it is likely to be supplied

from public sources.

(¢) Because it is cheap and easily
handled.

(d) None of these

Give the meaning of the phrase
‘natural focus' in the passage.

(a) Inconvenient centre
(b)
(e}

(d)

Convenient centre

Last centre

L]

L

None of these et

Name the kind of education the writer
mentions in the first paragraph.

(a) Vigual education
(b)
(¢) Moral education

(d)

Audio education

MNone of these

Which of the following is/are
important medium(s) for the kind of
education that the writer mentions in

the first paragraph ?
(a) Exhibition
(b) Cine-film

(e)

(d) All of the above

Filmstrip

{ A -

11.

12.

An outstanding value of the exhibition
method is that it gives a/an .
Fill in the blank with the guitable
choice given below.

(a) Delight

(b) Instruction

(¢) Training in appreciation
(d) None of these

Which of the following mediums has
gained greatly in popularity in recent
years 7

(a) Cine-film

(b) Exhibition

(¢) Filmstrip

(d} None of these

H;’rectian for questions no. 13to 15:
Find out the appropriate meaning of the
given werd from the choices given below it

Hﬁ I%ntusity

14.

15.

5)

(a) Humility
(b1 Perseverance
(¢} Pride

(d) Disquiet

Ingenuous
(a) Candid
(b) Clever
(¢) DBrave

(d)

Innovative
Insipid

(a) Rude

(b) Tasteless
(¢) Unhealthy
(d) Intolerant
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Directions : Read the following passage
and answer questions from 16 to 18.

The seventh anniversay of the Mumbai
attacks is an apt occasion to evaluate the
efficacy of the Crime and Criminal Tracking
and Networks and Systems (CCTNS). It was
among the multitude of bipartisan
initiatives kick-started after the shock
waves of the three-day massacre had ebbed.
The intention was not just to track down a
eriminal moving from one place to another,
It was supposed to make the common man’s
life easier by introducing e-governance in
policing. The CCTNS aims to automate the
country’s 14,000 police stations and link
them electronically to courts and jails. In
other words, the system will save several
hours of waiting and pleading at police
stations, besides several thousands of
rupees as slush money to keep the files
moving. \

o '-- tP

The main eatch in its cnntnmel.iau
was financing. The States pushed it al&lg
till the Centre kept pouring inmmoney. itﬂ]
success depended on fault-free and smooth=
running computer hardware and software
systems, which needed regular doses of
funds for replacements and maintenance.
Though the Centre gave funds to all the
States, progress was patchy. Karnataka,
which has adopted the Citizen's Charter as
part of its governance model, is the best
performer. It digitised its data base of
eriminals and eliminated any scope for
suppression of facts through initiatives such
as SMS updates at every FIR cycle.
Relatively better governed States such as
Tamil Nadu and Andhra Pradesh are also
far ahead than UP, Bihar and Punjab.

The project went on life support after
the new government took office at the
Centre. The Finance Ministry told the
States to fund the CCTNS from their
increased share of Central taxes. Strapped

5Cs-2 { A -

for money at the best of times, all States
have put the brakes on the project. The
Centre will be forced to make extra
allocation to the States to keep the CCTNS
going, Hundreds of unpaid IT vendors are
ruing their involvement in the CCTNS. The
problem, however, is systemie and stems
from the abolition of the Planning
Commission. The Centre will be forced to
make more such handouts to keep several
vital Central schemes going.

16. The words “The project went on life
support...” in the passage mean —

(a) there was a positive change in
the implementation of the project.

{b) the implementation of the project
was adversely affected.

ie) there was increased fund
allocation for the project.

(d) the project was scrapped.

178 TheWord ‘slush money’ in the passage

b‘vﬁem to
n ﬁ‘! tunds required for infrastructure
equired to keep a track of files.
{b) expenditure on databases for
storing files electronically.
fc) bribe

(d) funds required for introducing
e-governance in policing

18. Whieh, according to the passage is the
mest important factor in the success of
CCTNS ?

(a) A liberal dose of slush money
(b) Adequate financing

(¢} Adoption of Citizen's Charter by
all States

(d) A bipartisan approach towards
the project

6)
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32
(a) HHHDHI
(b) FHHMI
() THMZ
(d) wuHMI
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(a) FES e -
(b) TH=E

(e) @fam

(d) FHEE

85. ‘Gq faodft o=, fag @ & wgEl
Cig i

Directions : In questions no. 36 and 37,
choose the word opposite in meaning to the
given word.

36. Deluge

(a) Epidemic
ib) Disease

(c) Starvation

{d) Drought

37. Inherit
(a) Waste
(b) Dole
tchy Destroy

(d) Begueath

Ur'd

38, “‘niy Uzt w Wt ngw ft § 2
(a) faaro o=
(b) WHS g9 J98°
() o f&9 wr@e
@) fsg=dg IT&

(a) HI=T 39, “‘wdt 93 &t & 987 = wft www
#:H I
P < (a) 33T ¥
@ WS (b) »Eg 3wt A
) f&et = ©) 83=8 I
(@) fenrag i FTat
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Directions : (Questions no. 40 to 42) The
following questions are based on the
diagram given below :

598r: (Y40 3 42) 35 9578 3 o7
3 WTFT I3 |

7
o B
8 12 6] 13 P
9 11 14 e 14
L 5 \
1, Rectangle represents males, T:'_U'T-F@T;"[a' I k2 ¢
2. Triangle represents educated. e - fore s
3. Circle represents urt 21 (T E
- presents urban, 7:5 W % |
4. Square represents civil servants. 3 Fm circlel  EETdae §
40. How many are educated males.ywho SIREE T
are not urban residents ? T~ i, HJIHT J B edd (square)
(a) 4 ~ - fres fea § seme e J |
(b) & Jmﬁi% Hoe uF-fod o8 § Biodt adt
(e} 9 L
(d 11 (a) 4
{(b) 5
41. How many are neither civil servants ic) B
nor educated but are urban and not Ad) 11
> » B, :
mples 4. fix afodt o5 7 s #=m =
(@) 2 &, v3 fou = 95 w3 wee adf
(b) 3 I8 2
(e) 6 (a) 2
(d) 10 o 2
fe) 6
42. How many are females, urban (d) 10
residents and also civil servants ? 42, fd&mi wgz I8, Higdt 98 w3
(a) 6 fres Rieg= 05 7
(b) 7 (a) @
(e} 10 :’b; I 0
e
SCs-2 ([A-12]
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A man takes 5 hours 45 minutes in
walking to a certain place and riding
back. He would have gained two hours
by riding both ways. The time he
would take to walk both ways is

(a) 11 hours

(bl 8 hours 45 minutes

(¢) 7 hours 45 minutes

{d) 9 hours 20 minutes

A man's age is 125% of what it was
10 years ago but 83 1 % of what it will
be after 10 years. W%lat is his_present
age in years ? A ':': . |

-

(a) 70
(b) 60
() 50
(d) 20

If a man decides to travel 80 kms in
8 hours partly on foot and partly on
bicycle, his speed on foot being
8 kmph and that on bicycle being
16 kmph, what distance would he
travel on foot ?

(a) 20 km

(b) 380 km
(c) 48 km

(d) 60 km

45.

(A-=13)

fex wreft § feg wor 3 oft war
Ues 77 g W3 U3 €3 =uy »rls
feg 5 W2 45 fusz Z9@ o5 | 7
B0 2 v W I ft pedt g9
Goewe s 8 d | F 6 =
uH Ues 7w & 3t Ord fdat mf
Jrar 7

11 e

(b) 8 W2 45 fiae

(e) 7 W2 45 fuze

(d) 9 we 20 fHae

{a)

feg nredt & dger g G &
10 75 ufgs & Gwa o 125% 9
w3 8F &t 10 73 e & Oe
€ 83ie T | v & 5w Sm

() TO
iby B0
(e) 5O

(d) 20

feg wreft €t U=8 9239 8 kmph
I w3 ¥ 67 weles I AEdt @
g 3 67 ¥ 9839 16 kmph T |
87 eve gger § fa 89 80 km &
it 8 w2 &9 w9 adar | B9
faa" weg U agsr uar ?

{a) 20 km

(b) 380 km

(¢} 48 km

(d) 60 km
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46. A and B have, between them, ¥ 1,200.
A spends 12% of his money while B
spends 20% of his money. They are
then left with a sum that constitutes
85% of the original sum. Find what
amount is left with A.

(a) ¥ 750
(b) = 800
(¢) =700
(d) ¥ 660

47. Ajit can do as much work in 2 days as
Baljit can do in 3 days and Baljit can
do as much work in 4 days as Diljit
can do in 5 days. A piece of work takes
20 days if all work together. How long
would Baljit take to do all the work by
himself ?

(a) 82days
(b) 44 days
(e} 66 days n
(d) 50 days

48. Out of all 2-digit integers between
1 and 200, a 2-digit number has to be
selected at random. What is the
probability that the selected number is
not divisible by 7 ?

11

3
@ %
11

by ==
) 18
33

(el ﬁ
77

&) =
(d) 90

SCSs-2

up'd

46. A W3 B I8 IH 1,200 YT TS | A

47.

48.

(A-14)

WYE 12% JUT Y99 ST J W2 B
20% | 9= §IF o &% fue & I
99N ¥ I8 85% dfg Wier & | 9§
A 5 48 gue 59 75 ¢

(a) 750 JUE

(b) 800 TUE

(e} 700 TUE

(d) 660 JuUE

s’ @ »fls 2 fesf 'S see &,
513 3 feat 'w Fger 3 | fist
aH wBHE 4 fegr 'w mEe 3,
oBfts 5 fest T a@er 3 | # &
w9 feds 4 ogs FF fex a6 §
87 20 fost ¥ y@r 99 BS 5 |
g3 feder feg o &8 ot '
S99 ?

(a) s2fes
b) 44fes
(c) 68 fex
) s50fes

1 w3 200 ¥ fegae §6 2wt
Yo wd (2 digit integers) I5, SIaT
8 Haw 3¢t fog YT Wi= (integer)
g-3gdt glowr @R, F &
Hews' I fa gfonr famm yge »ia
755 998 Ao S 7

11
@) =
¥ %0
®) -1
is
33
oy 23
T
77
@ <L
90
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49. 49,
the ten people present shake hands
with each other once. How many
handshakes will there be altogether ?
(a) 20
(b) 45
(e} 55
(d) 90
50. Three years ago, the average age of A, 50.
B and C was 27 years and that of B
and C, b years ago, was 20 years. A's
present age is
(a) 30 years
(b) 87 years .
(¢} 40 years
{(d) 48 years ] T
51. At a dinner party, every two guests | 51.
used a bowl of rice between them,
every three guests used a bowl of dal
between them and every four guests
used a bowl of meat between them.
There were altogether 65 bowls. How
many guests were present at the
party ?
(a) 60
(b} 65
(¢) 90
(d) None of these
SCs-2 (A-15)

At the end of 2 business conference, all

Target Punjab with
Siddhi Punjab

fea suga F5edn € i3 few OF
feg gwe 79 o fewadt fea go
s I8 fim 82 g5 | I8 i 7
fdat =g J9 fus® a=a1 2

(a) 20

(b) 45

(¢) 55

(d) 90

3 73 ufost A, B w3 ¢ & »ins
1T 27 78 Ht w3 5 7@ ufas B
wa C S wiAs BT 20 B HT | A
S age S St T2

(a) 80 A&
by 37 'S

() 40 7S

It 48 7S

feg faag yadt few o9 € Hfowst
feg fem Far v==, 9 fis
wfows™ feg feg o o8 w3 T9
99 Hfons' feg feg Far e &
Tagfenr T 3 | ¥ g5 fuEe
65 a1 T9IT Fe T5 3T Ut few

fas HioHs »me 75 2
(a) 60
(b) 65
() 90
fegt fe9 aet &t

(d)
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Directions : (Questions no. 52 to 54) In the | I598F : (yF& 52 7 54) J5 159 yws'
following questions find the next number in ﬁggﬂgwmﬁ;
52. 165,195, 255, 285, 345, 7 52. 165, 195, 255, 285, 345, 7
Y s (a) 376
a 1]
(b} 390
(cy 420 (d) 435
(d) 435
53. 7,26, 63, 124, 215, 342, 7
53. 7,26, 63, 124, 215, 342, 7 (a) 391
(a) 3891 (b) 421
(b)Y 421 (c) 481
© 461 (d) 511
(d) 511 64. 2,7, 27, 107, 427, 7
(a) 1262
54. 2,727, 107,427,? ‘
DEF (NE S
(a) 1262 ~ (c) 4027
(b) 1707 L 'P (d) 4207
(e) 4027 '
@) 4207 “ge” T “gam” &8 83 Adg &
Avers e m By
565. “Pulp” is related to “Paper” in the —
same way as “Hemp” is to 18
(a) Basket (b) T
(b) Yarn (¢} IH
(¢c) Rope (d) Fymg
(d) Cotton
56. “‘wAm” wr “Hig” am €3 Fdy
56. “Assam” is related to “Bihu” in the SH 2R ar 8 O |
same way as “Kerala” is to '
(a) Malabar o
(b) Kuchipudi (b) FHRIE
(¢) Coffee () &
(d) Bharatnatyam (d) FIIETenty
SCS-2 (A-18) :
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57. If ROAST is coded as PQYUR in a | 57.
certain language, then how will
SLOPPY be coded in that language 7
(a) MRNAQN
(b) NRMNQA
(¢} QNMRNA
(d) RANNMQ

58.

58. [f HEALTH is written as GSKZDG,
then how will NORTH be written in
that code ?

(a) OPSUI
(b) GSQNM
(¢) FRPML
(d) IUSPO
59,

59. A woman going with a boy is asked by
another woman about t.ha relat.mnsh:p
between them. The. ﬁ@hman zepliedy
“My maternal uncle and' the uncle of
his maternal uncle issthe same.” How
i8 the lady related with that bay 7 1L[HITH
{a) Grandmother and Grandson
{(b) Mother and Son
(¢) Aunt and Nephew
(d) None of these 80

60. A man is facing West. He turns 45° in
the clockwise direction and then
another 180° in the same direction and
then 270° in the anticlockwise
direction. Which direction is he facing
now ?

(a) South
(b) North-west
(c) West
(d) South-west
SCs-2 {A=-17)

# faf g fe¥ ROAST $ PQYUR
fefimr wer & 37 8 g fem
SLOPPY & dft fafinr ariar 2

(a) MRNAQN

(b) NEMNQA

(c) QNMRNA

(d RANNMQ

# fan 7w fes HEALTH 3
GSKZDG fefimm §er & 3 O
gHT fe¥ NORTH 3§ =ft fafir
HEaT 7

(a) OPSUI

(b) GSQNM

{c) FRPML

(d) TUSPO

fea M3 © a8 7 ot feq W3 §
A2 grdl w93 & Uenr f3 397 3
5% df famsr T 37 ufgdt e 3
€ HH v 9 feq fonadt & 1

e T HE a8 ot famsT § 2
= w3 U39
(b) HT w3 Y39
(¢) HH w3 F5aT
@) feg' fes &t =
fega wreft o e e 3 | €3
wHt & gt wgEE 450 WiH AT
3 | feg €0 €” waHT 1800 I9

W e 3 | Or Suds 60 wEt &
gt € €82 g9 270° WH Fer T |
ge By Ho fawd u#
2

(a) VY=

by EFa-d=y

(e) UBH

(d) TY=-UgH
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61. Kunal walks 10 km towards North.
Form there he walks 6 km towards
South. Then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(a) 5 km West
(b) 7 km West
(e} 7 km East
(d) 5 km North-east

62. In a class of 46 students, 18 play
football, 17 play cricket including 6
who play football. 16 studentS:play
hockey including 4 whur,p_l_.gz_}: Eielu.t
but not football. 5 students play
carrom but no cutdoor game. Which of
the following figures represents these
facts 7
(@) %@

()
(c) %}
sCs-2

61.

62,

IS 10 km §39 T® I=r T |
8% 87 6 km ST ¥ ¥BT T |
feg €9 3 km Yoy <3 982 T |
ge B9 »ud me I ufgmt ==t
T 3 4 g9 3 w3 ot fowr
=l

(a) 5km UEH

(b) 7km UEH

(¢) 7kmVUJF

(d 5km §3T-yaE

46 fforradhyt &H Tz few
18 fefowrodt o8 H8e€ 5 |
17 fEfonredt fgae H#8€ I8 fag
fa§ 6 Toum f Hse Ts |
16 ffonradt Tt BEe I8 figt
fe5 4 fgae &t 432 I8 W =B
st tse | 5 Efowradt Jow ST

'-.aﬁuaaﬁm{mlﬂa

(A-18)

%ﬂaﬁlﬁvﬂﬁﬁﬁswﬁﬁ
foggr fige fem @8 & wh
Tar e I |
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63. Some of the cricket players are tennis
players, some tennis players are
hockey players, no cricket player is a
hockey player. Which of the following
diagrams correctly represents the
above statement 7
(a) @
® @D
© QD
(d) @g

64. In a dinner party, both fish and meat
were served. Some took only, fish and
some only meat. Thm;!a wele Some
vegetarians who did not aceept éither,
The rest accepted both Heh and meat,
Which of the following diagrams
correctly reflects the situation ?

(a) @
[ ®
o (QD
O
(d)
SCS-2

(A=-19)

frge Wt mE w3 I8 & fHeR
i | I8 waTEt 7S Ty 5w
e 3 3 e fer | EWl
It g=e 3¢ fo39t "9 faur
fifgg for oas § Wt TERRE U ?
(a) @
O
(b) @
o
O
@
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65.

67.

SCS-2

If ‘4 means ‘divided by, ‘=’ means
‘added to', *<' means 'subtracted from’
and “+' means ‘multiplied by’, then
what is the value of 24 + 12 — 18+ 9 7
(a) =25

(b) 072
{c) 1530
(d) 280

A group consisting of 25 teachers,
20 engineers, 18 doctors and
12 salesmen visited a fair and spent
# 1,330 altogether. It was found that
5 teachers spent as much as
4 engineers, 12 engineers spent as
much as 9 doctors and 6 doctors spent
as much as 8 salesmen, If every person

in a professional group spent thé same

amount, find the amousifspent B,

each engineer.
(a) ¥ 14

by ®& 17-50
{fc) T18
d) ¥21

From a number of apples, a man sells

half the number of existing apples
. 1

plug 1 to the first customer, sells —rd

i,

of the remaining apples plus 1 to the

1
second customer and Eth of the

remaining apples plus 1 to the third
customer. He then finds that he has
3 apples left. How many apples did he
have eriginally 7

(a) 76

(b) 42

(e} 20

(d) 38

65. § '+ ¥ HIBE T ‘§Ow, = &

Target Punjab with
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WIBE T ‘W, % ¥ WEsE J
“feF weenr w3 + T HIBE
‘gre’ I 24 + 12— 18 + 9 foEE
g9THg J<al ?

(a) —25

(b) 072

{c) 15:30
(d) 290

feg myo, fam fem 25 wimma,
20 féfidig, 18 Fded W3
12 AEARS A, HEr wuE fomr
w3 wifenrt B fus & 1,330 FUE

vag 3 | =uT few wfew f8

5 wifmmuat & 4 fEfidhat =
g9reg, 12 foftEwiat & o 9 ©
STHT W3 6 TEST & 8 HOOHE

& gowg wgw di3r | F fe¥ fu8

T 795 forad! 99790 Yow T9eT

VD fer fifidhm 3 s wee

67.

(A -20)

(a) 14 FUE
(b) 17-50 FUE

b
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68. A man wears socks of 2 colours — 68.
black and brown. He has altogether
20 black socks and 20 brown socks in a
drawer. Supposing he has to take out
the socks in the dark, how many must
he take out to be sure that he has a
matching pair ?

(a) 3

(b) 20

(¢) 39

(d) None of these

69. A bird shooter was asked how many 89,
birds he had in his bag. He replied
that there were all sparrows but 8, all
pigeons but 6, and all ducks but 8.
How many birds did he have in the

bag in all ?
(a) 9
(b) 18
@ 21 y
(d) 36

Siddhi Punjab

feg nreft @ dar i gaw
Uge I — Tt w7 ogdhe |
e a3 wewdt few Tm
20 IEMfT W3 20 M FarE
I35 | 7 OF% Tae fou wawdt 'S
HaE dEeh’ € 3t G § fow dar
T fea "3 5o =t ue 3 W
(a) 3

(b) 20

(e} 39

@ feg' fag gt adf

feg Ugt-1e § 72 Wenr famr fy
87 € &8 feu {5 &t o5 37 O
& 7=y fozr fg ¢ § &3% weht
HEmT fodter WE, 6 § 833 Wt
AY 9¥39 A8 wE 6 § &8% weft
AT §3y97 "5 | OF dw 88 fem
& fds ¥t 75 2

(a) 9

ﬁ%b 18

e} 2
(d) 3

o =]

Directions : (Questions no. 70 and 71) In = 2
598m: (Y75 3. 70 #F 71) J5 (59

each of the questions below, is given a

statement followed by twe assumptions 21'15:5. &7 fow 755 & / FTE T g &
numbered I and II. Consider the statement TS S I5 ?ﬁ? § ;.5.';' I W3 1 355
and mark your answer as per the codes given F=T ot & | aEF 2 fevg s90 TP I

below :
(a) Only assumption I is implicit,
(b) Only assumption II is implicit,

(e) Neither assumption 1 nor II is

implicit,
(d) Both assumptions I and II are
implicit,
5Cs-2 (A -21)

18Y FF WFHT myST ey I )

(a) IS TFET I Aafs3 T |

(b) =B g9 I Hafss T |

(@@ I w3 11 '§ It & g
Hafgg &R & |

d I »3F 11 ¥ uge=t Hafsz
ar
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70. Statement :

The Goverment has decided to pay
compensation to the tune of ¥ opne

lakh to the family members of those
who are killed in railway accidents.

Assumptions :

I.  The Goverment has enough funds
to- meet the expenses due to
compensation.

Il. There may be reduction in
incidents of railway accidents in
the near future.

71. Statement :

Never before was such a lucid book
available on the topic.

Assumptions ;
I.  Some other books were i-‘.ﬁ,\:ﬂ]ﬂh]E
on this topic. Y -
.
II.  You can write !uciﬂ‘_’fﬁ?kﬂ ulm very
few topics. —
Directions : (Question no, 72 and 73) In

each of the following questions, two
statements numbered I and I are given.
There may be cause and effect relationship
between the two statements. These two
statements may be the effect of the same
cause or independent causes. Read both the
statements in each question and mark your
answer as per the codes given below :

(a) Statement I is the cause and
statement IT ig ity effect.

(b) Statement IT is the cause and
statement I is its effect.
(¢} Both the statements I and IT are
the effects of independent causes,
(d)  Both the statements I and I are
the effects of some common cause.
SCs-2 { A-—
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70. FTF -
HIgS 5 BWs Az ¥ 4 I
TweEE few wWas Tfewt @
ufsesa Hegt § fim 8y que 39
o WoitemT 3T grEar |
TaereT .
I FI99 a8 Weied €°3 3= =5
¥vad =El &Fff 33 Bussg
I3 |
. 338 3y feu 35 oowese
wzE @t st I |
7. FEE:
fem 3 ufost =t & fom fer €43
&8t mine fazy Quswy aft ot |
TG
L fem fem €3 ag 59 fegwt
Suzay I8 |

Ik 573 83 ffiprt €3 mime
faga’  fadmit 7 wad

n T3 |
B9 (yms 5 72 wE 73) In fm
YHET 67 2 395, a1 F 395 1 w3
R forr 3, f58 98 a5 | gt

I e st & |

() TEE 1 w3 I g oFgst o
&9 95 | |

(d) 985 I »3 n f&& 3g= =
&9 T3 |

22)
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79. 1. Alarge number of people living in | 72. 1. 3= fegrfamr f<S fge =3
the low-lying areas have been U3 e B B fg® 939
evacuated during the last few fo5t '9 gF 32 7 39 Hﬁﬁmg
daj"ﬁtﬂﬂaferplﬂﬂﬂﬁ}.l et X '%ﬁ_ 5 ; 3

II. The Government as tushed in i Z

relief supplies to the people living . FIEd & IJTT TS uﬁaffea'
in the affected areas. femfant 9 aﬁg Bat 34

73. 1. The prices of petrol and diesel in I3 Aoeft uge ﬁ?ﬂ_ | o !
the domestic —market have | 73, 1. TUg% &% vftfont 3 wisfad
remained unchanged for the past Tg f=9 ueTE WS Fas

few months.

St Pzt few at EEER
: . The muﬁsal oil iﬁmi in Ethz ~F l
internatio market have gon :
up substantially in the last few [ wZegHed! mﬂf@'ﬁ fugs a3
months. wffonit feg ¥ 38 iy
74. How many parallelograms are there in et Frat &g TET 96 |
the following figure ” 74. I8 X 58 ffzg fem 45

FT 15 ] meger WHL/BRTT
Foof vt

(a): 20
(b) 24
() ‘28
(d)y 30

Directions : (Question no. 75 and 76) In
each of the following questions, count the ]
number of triangles and Squares in the given

figure. (triangles) i}fé' HHAS 63'3??-?7 (squares)
&t farest €A |

75. /\ 75. ﬂ

1 N

(a) 28 triangles, 12 squares (a) 28 fage, 12 AHSE 93994

(b) 26 triangles, 8 squares b 26 f33=, 8 AHAS T3IIH

(¢) 32 triangles, 10 squares © 32 f3as, 10 AHIE 93339H

(d) 84 triangles, 18 squares @) 34 f382, 18 AHAE I393H
SCS-2 (=28

Telegram: https://t.me/siddhipunjab01
You tube: https://youtube.com/@siddhipunjab



Target Punjab with
Siddhi Punjab

76.

(a)
(b)
(e)
(d)

44 triangles, 10 squares

14 triangles, 16 squares

27 triangles, 6 squares

36 triangles, 2 squares
Directions : The following table gives the
sale of batteries m anufactured by a company

over the years. Study the table chart and
answer the questions based on i,

N Type of battery (in L]uuusﬁg?lj?.' ]

| = | a9 | gElPIESE- e ‘
| 4 7 32 | 980 ok
== | | AH | AH | ATTIAR fogh|

| 1992 |75 | 144 | 114

1993 | 90 | 126 | 102 | 84 | 126 | 528

1994 | 96 | 114 | 75 | 106 | 135 | 525
4 || 78 | W08
1995 | 105 | 90 | 150 | 90 75 | 510
1096 | 90 | 75 (135 | 75 | 90 | 465
| 1997 [mﬁ 60 [155\ 45 | 120 | 495
@95 (115 | 85 | 160 | 100 | 145 | 605
w7, What was the approximate percentage
‘ncreasé in the sales of 55 AH
batteries in 1998 compared to that in
1992 7
(a) 21%
(b) 33%
(c) 34%
(@) 36%
SCS-2 (A -

(o2 | 108 | 548"\,

M2 | 7 |32 |8 |55
@ AH | AH | aH | AH | aH | 3°
1992 | 75 | 144 | 114 | 102 | 108 | 543
1993 Tgo_l 126 | 102 | B4 | 126 | 628
1994 | 96 | 114 | 75 105 | 135 | 525
1995 | 105 | 90 | 160 | 90 | 75 | 510
1996 | 90 | 75 135 | 75 | 90 | 465
1997 | 105 | 60 I| 165 | 45 | 120 | 495

1998 | 115 | 85 [mn 100 | 145 | 605

76.

(@) 44 f38, 10 FHEE ¥3939
b 14 f3¥E, 16 AHAE FITFH
) 27 f33E, 6 AHEE 93T
@ 36 f33=, 9 WHAS 9390

Bsgem : 97 geTonT JfewT S¥E-FIE
5 femt 3 wias corEer &1 SBY
Lg?@ﬁuww&m
fe& |

-

1. 55m§‘aaﬁwﬁaﬁﬂr51993e°rﬁg
fog 7E 1992 O 385 €9 BITA
firs yFws T e 2
(a) 31%
(b) 33%
(c) 34%
d) B86%

24)
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78. In case of which battery, Was there a | 78.

continuous decrease in sales from
1992 to 1997 ?

(a) 35AH
(b) 4AH
(¢) 32AH

(d) TAH

: T9.
79. What is the difference in the rumber
of 35 AH batteres sold in 1993 and
1997 7

(a) 39,000

(by 39

(o
!

(¢) 43,000

(d) 49 |

80.
80. The total sales of all seven years 18 the

maximum for which battery ?
(a) 35AH

(b) 4AH

(e} TAH

(dy 32AH

SCS-2 | A-25)

faﬂﬁ?ﬁﬁﬁgwgzémmﬁ
sargTg weet gt 2

(a) 35AH
(by 4AH
(¢) 32AH

(dy 7AH

aﬁmﬁea"rnﬁ"'aﬁwgam%mavaﬁ
#z = nizd €F |

(a) 39,000
(b)) 39
:“:,«f‘n‘h 43,000
(d) 49

fanﬁea‘teﬁﬁawa*?ﬁﬁsna%
2q J 7

(@) 35AH

(b) 4AH

(@ TAH

id) 32AH
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